1. Read the text and write T {true) or F (false).

a) Air pollution will increase when carbon emissions decrease.

b) We will reduce the impact of global warming if we take action now.
c) We won't halt global warming if we stop flying.

d) If we travel by train, we’ll only produce a quarter of all emissions.
e) A flight from London to Montreal produces 1.46 tonnes of CO,.

) We'll have to pay a carbon tax when we fly in the future.

g) Carbon offset projects can solve the problem of global warming.

h) The situation will improve if we all work together.

2. Answer the following questions.
a) What does the underlined word “it” in the text refer to?

b) What does the underlined word “they” in the text refer to?

c} Can you think of any other solutions to prevent global warming?




